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The candidates will answer question of one
language either of Hindi or Urdu language.
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What is the purpose of the Dash in a

sentence ?
B .
62 Toenda To emphasize a c
sentence strong feelings
C
To sum up
. To separate
several things , ] .
items in a list
or facts
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Complete the sentence using appropriate
option
Pentagon----——---—-five sides.

T have had j had
C‘ has 1 have

Fill up the blank, with the correct option
My father has been teaching in this college-

since

Fill up the blank with the correct option.
Iwishl_____ aKing.

7 Was
1 Were

Am

— O
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A sentence has been given in Active Voice.

Out of the four alternative given below,
select the one which best expresses the
same sentence in Passive Voice

He was watching television in the morning.

Television
was watched
by him in the
morning.

Television
was being
watched by
him in the
morning.

Television was
watched by him
in the morning.

Television has
been watched
by him in the
morning.

Fill in the blank with the future perfect
continuous tense form of the verb given in
the bracket. "We_ for an hour now." (wait)

shall have
been waiting

shall be
waiting

have been
waiting

. had been

waiting

Select the alternative which best express
the meaning of the idioms/phrase.

Carry out

A
Put To carry
something in something
action heavy

q To encourage 0

g To deny

someone
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Select the most appropriate option to
change the sentence from direct speech to
indirect speech

"| will make sure to help you", my sister
said.

My sister ........... that .............. help me.
h
A told/she wil assured/she
would
q said/she 0
told/she won't
must

Select the alternative which best express
the meaning of the idioms/phrase.
Akin to

Similar to
Different from .
something
. 0 .
C‘ Indifferent to Attention to

Fill up the blank with the correct option.
She .......... daily .

walk j walking

— =

walks [1 have walked
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Combine the following sentences into one

simple sentence.

The servant mopped the room. She found a

wallet lying in the corner.

The servant
found a wallet
while
mopping the
corner of the
room.

The servant
mopped the
room and
found a wallet
lying in the
corner.

The servant
founded a
wallet lying in
the corner
while mopping
the room.

While mopping
the room, the
servant found a
wallet lying in a
corner.

Combine the following pair of sentences

into one simple sentence.

Robin is my friend. He is a journalist.

/ Robin who is
a journalist
and my friend.

Robin is my
friend but
journalist.

B
Robin, my

friend, is a
journalist.

Robin is my
friend and
journalist too.
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Pickout-the Non finite verb/verbs in the
sentence given below
Would you mind waiting a moment ?

Mind

Waiting Moment

T
1

— O

Pickout-the Non finite verb/verbs in the
sentence given below
There was nothing for his to fight for.

T Nothing For

C‘ Was 1 Fight for

Which Punctuation Mark is used to show
'‘Excitement'?

Exclamation
Full St
Mark j u op
( .
Parentheses Question Mark
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Select the most appropriate option to
change the sentence from direct speech to
indirect speech

He asked, "Have you got a laptop?"

He whether a laptop.
77
/ Wanted to \I:\::cl)lvt\jien /he
know/I had g
had
C Wants to
Know/vou Wanted to
y ask/they have
have
Choose the correct phrase from the given
option and make a conditional sentence.
28 If Raja goes to the park, he ......his friends.
T can see j will see
C‘ could see E‘ would see
Fill up the blank with the correct option.
One of these men-—--—the culprit.
79

Has

j Are
j have
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Identify the Passive Voice of the given
sentence
He pleased me.

80

81

82

83

A .
| was being
, | am pleased
please with L
. with him.
him.
d O
| was pleased | was pleased
with. with him.

Fill up the blank, with the correct option

The old man fell ...... the ladder.

off

of for

— O

Choose the correct phrase from the given
option and make a conditional sentence.

If the sun......., | will go swimming.
T shines j shine
C‘ will shine E‘ would shine

The "!" symbol is called

A
Exclamation .
Question mark
mark
¢ .
Full stop Semicolon
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Complete the sentence using appropriate
option
The technique of paraphrasing___.

, has to be
are practised )
practised
have to be is practisin
practised P g

Choose the correct phrase from the given
option and make a conditional sentence.
We won't be able to use grammar correctly
unless you.....it.

don't

do understand
understand

have
understand

understand

Select the alternative which best express
the meaning of the idioms/phrase.
A close shave

Narrow j .
Victory
escape
q . .
Defeat Diversion
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The ratio of the area of a square to that of
the square drawn on its diagonal is

Tk T & Sthel T 3G fdentl R o= aif &
U T ST &
/ 1:1 1:2
1:1 1:2
( 1:3 1:4
1:3 1:4
(secA+tanA) (1-sinA)=-—--
(secA+tanA) (1-sinA)=-—--
A .
SecA sinA
SecA sinA
cosecA cosA
cosecA cosA
A point is
ek farg i 8-
i
One Two
dimensional dimensional
qeRfaHta fEfrfra
q Three O
Dimensional None of These
Bt FH A IS el
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LCM of two numbers a and 18 is 36 and
HCF is 2 then the valve of 'a'is

&t Tl a 3k 18 T T090H0 36 JT 700

2g M awmmAAEI
A B
2 3
2 3
q D
4 1
4 1

The graph of Linear equation x+y=10 will be

AP FHIART x+y=10 BT 3Tl g :

Vertical line

REORIGH

d
Straight line

TQRA @7

Horizontal line

gifcrsT ¥

D
None of these

T 9 &I el

If the system of linear equations 2x+3y + 7
and 2ax+(a+b) y +8 has infinitely many
solutions than.

f&q g A& TteRzor & g 2x+3y = 7 and
2ax+(a+b) y = 8 & 3d g al

J.

a=2b
a=2b

a+2b=0
a+2b=0

B

b=2a
b=2a

D
2a+b=0

2a+b=0
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If (0,0), (3, V3) and (3,P) is equilateral triangle then find the value of P

afx (0,0),3, V3)aur (3,P) e wHatg Py @ad § &t P=?

A B
1
1

d O
3
3

(3V3,-V3)

If the volumes of a cube is 1728 cm?, the
length of its edge is equal to:

gfe o Y AT 1728 2 @, ot 596 fhaR &t

e 2.
A B
7 cm 12 cm
7 9t 12 Tt
D
18 cm 19 cm
18 @Y 19 T

In a circle of radius 7 cm,

an are subtends

an angle of 30° at the centre, the length of

the are is

7 9+t B atet Tk g9 F a hg TR 30° I 0T

A 11 cm B 11/3cm
11 cm 11/3 cm

¢ 22/3 cm . 22 cm
22/3 cm 22 cm
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The bisectors of any two adjacent angles of
allgm intersect at

all gm o Tt & 3 il & AN
gfawse

/ 30° i 45°
30° 45°
q 60° : 90°
60° 90°

Let s denote the semi-perimeter of a
triangle ABC in which BC=a, CA=c, If a circle
touches the sides, BC, AB, at D,E,F,
respectively, then BD=

312y s ST ABC o 3ref-uRfe at fesfia &ne
fSd BC=a, CA=c, af¢ Gk g<I shHS: D,EF &R
3fsTrail, BC, AB @t s &l g, df BD=

A B
s-a s-b
s-a s-b
( 0
s-C s-(a+c)
s-C s-(a+c)
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Which of the following is true for an
irrational number?

Teh URAY e & forg Aefafea d b @
8?

A B The decimal
Th decimal form is non
formis terminating
terminating recurring
GQRMHAT U GQAHAT U
qid gar 8| 3d STTad! gidr

gl

q .

The decimal

form is non

terminatin

non repeatgi]ng ;?;‘;Z;%h:;?
GQRTHId &0 !
ST ST

I8l

If points (a,0), (0,b) and (1,1) are collinear
then what is the value of (a+b)

gf¢ fagd (a,0), (0,b) 3R (1,1) @ g 7«

a+b="?

A -ab B ab
-ab ab
¢ 1/ab . 1/ab

1/ab 1/ab
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If one zero of the polynomial f(x)=
(k2+4)x2+13x+4k is reciprocal of the other
zero, then value of k is :

af ague f(x)=(k2+4)x%+13x+4k T I GTR

T YShHTUT & af K hT AT g1 :
A B

-2 -1

-2 -1
@ 0

2 1

2 1

Class interval should be for drawing ogive.

dRuT Wiw o foig af siaRredt @l & g1 =1y

A
None y
. Overlapping
overlapping ﬁ
LEICIRET
¢ None

overlapping or
PPINg None of these

Overlapping . .
o S8 Y S Ao

gafds

The number of common points for any two
intersecting lines

foheg &t ufa=edl Jarat & foy Iwafss famgat
&) I B-
A 0 B 2
0 2
¢ 1 . 3T
1
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A washing machine having a cash value of
Rs.15000 was purchased under installment
scheme in which payment of Rs.2250 was
made in two equal half yearly installments
after immediate payment of Rs. If the rate
of interest is compounded half yearly at 8%
p.a., then the amount of each installment
will be

Qeh a1t A foient Aehe 7ed 15000 To &
foned gt & ofdfa @l 78 fores 2250 To
o XA T oh URTTd &t T gtk fheal
# ofTar fomar AT afS ATt Y @R 8% arftieh &
3 ufy sTEl GO foman man gt at v foha
& fy ghft

/ 6760 %o i 6740 %o
6760 %o 6740 %o

0
q 6860 %o 6840 Zo
6860 %o 6840 Jo

In a rectangle Length =8 cm, Breadth = 6
cm, Then its diagonal=..........

Uch 31d | ofa1s =8 9}, =ers = 6 Tt a9

A B
9cm 14 cm
9cm 14 cm

O
10 cm 12 cm
10 cm 12 cm
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If (x+4) is a factor of a polynomial then its
zero is

gfe; foheft sIguS o Uah UEUs (x+4) gt dt 39

JgUS ohT LI BT

A 4 B -4
4 -4

¢ 3 . None of these
3 g0 @ IS Tl

Mean of first five natural number

UUH Ul UTehd HATSAT <l AT §

J.

4
4

B

x=acosB and y=bsin® then, b2x?+a2y2=-—

x=acos0 37k y=bsin@ &, a b2x2+a2y?=—

a2b?
a2b?

a‘b?
a‘b*

ab
ab

a%+b?
a%+b?
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The cost of plastering the four walls of a
room is 25. The cost of plastering a room
twice in length, breadth and height will be

Uch AR I TR EaRI bl &R e chl AT
25 g1 diams, IS8 3R $a1s H &t IR Ueh AR bl

TR Shed hl AT gt

A 50 B 75
50 75
0
¢ 100 200
100 200
2
= 2+1 =2 the find the sim of their roots.
x2-1 4
x2+1 5 ;
I = ;g’l‘?—ﬂ‘%ﬂﬂ?&?—ﬁﬁw
s B
0 1
0 1
@
4 g 9
4 9

For finding Mode from formula class
interval should be.

YA Y Fgetes Mepter & forg el &t e g+t
1fgu |
overlapping B Non
e overlapping
© SfeaTdt
open ended . None of these
g R IS T
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What is distance of P(-3,6) from the origin
of x-axis.

X &l & 7 fag T P(-3,6) AT A 8 |
/ -3 B 3

-3 3
¢ 6 . 3v5

6 3v5

Ramesh invests some part of his asset in
Rs.96 stock at 9% and rest at the rate of
Rs.120 stock at 12% stock. If the annual
dividend of both the stock are same then
what will be the ratio of investment made in
the two stocks.

T 37U G T B HHT 96 % h 9% Wich H JUT
A AT 120% & 12% TWieh & oTTa & 1afe gt
TIehl T aTSeh AT TA gt ot g+l it 7
S & ohT STIUTd gRTT

A 3:4 B 3:5
3:4 3:5
C4:5 I:4:3
4:5 4:3

The minimuim number of acute anglein a
triangle is

forelt BrogeT & pA-9-p - AhTOT
g 8l
g One Three
Qeh d=
¢ Two Four
al IR
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The value of (1+cot8-cosect)
(1+tan6+sech) is —?

(1+cot6-cosecB) (1+tanb+sech) -l A

T gRT?

A B
1 2
1 2
q D
4 0
4 0

Which of the following is Z—) form 0f 0.001?

0.001 12 &0 fFfafed 3 &1 ¢?

A . B
i § : 1
1000 999
q D
1 1
100 1999
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If a linear equation has solutions (-2,2), (0,0)
& (2,-2) then it is of the form

fohett ¥R HteRvoT &8 8 (-2,2), (0,0) @
(2,-2) gt at AQp Tfiarvor a1 = g -

Which of the following is the source of non -
renewable energy?

fFafafea d @ F saiaxeitg St o1 Sia
&?

Forest B Wind

ST gar
¢ Coal Trees

CALEH] Us. Ug

Which of the following tissue originates
from the ectoderm of the embryo?

fAfafed 7 9 &9 a1 de Yur & gaeied 9
S gl g8?
/ Skeletal
muscle tissue Nervous tissue
ThepTel ch fmm & d
arguLht Saew
@ .
Connective Muscular
tissue tissue
TSt e Uefia e
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Which one of the following represents
propanoic acid ?

fefafed & i wdfe s g 2

A
CH3COCH,CH,CH3 HHO
[ ]
CH3000H2CH20H3 H (II (lf C-OH
H H
d
CH3COCH; None of these
CH3COCH, 9 q IS g

Which material's rod is usually used to
make electromagnet?

fared grarer s & forg uraur fohg uaref &
©3S. 98 &I IUTNT gla1 87
A Steel B Brass
Lo et
Soft iron . None of these
TH e g4 9 P13 ol

Which one of the following liquids has the
highest rate of evaporation?

fAafafea & @ foadt ga & arsdfteor =
gaffde g -
B Nail Polish
Petrol . Remover
Uele BILCERNIER
R

¢ Alcohol . None of these

eehigel 14 @ i ol
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Which one of the following a natural source

of Oxalic acid?

3H1&feh 37T el UTepfden Sild AfAfafea 7 @

D 8?
Orange Tomato
a1 THATR
: O
Vinegar Potato
o=t 3T

Plasma membrane is composed of...

Protein

B

Proteins,
Carbohydrates
and
phospholipids
e,

GO ECTRCIN
Bihifeilugd

2

B
Phospholipids

and proteins
GIEhIfets R
PiEE]

D
Proteins and

nucleotides

maH 3R
B CEpIAEE)
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The value of acceleration due to gravity of

earth
gedf} IR TRy @RUT T AT -
A .
is the least on B .
is the least on
equator poles
YA W@ R
R gId &Y
g A giar 4
3 glar gl
g . 0 .
INCreases is the same on
from pole to pole and
equator equator
¢d q e 3@l 4 3R g
& R S W T TR Y I
T gl Ear gl

The element magnesium reacts with
sulphur to form which bond?

I AT gems o 91y SrfAfehar o ohis It

COEEIGIR
. B
lonic bond Covalent bond
IMafes se qgareieh ae
@
Both A &B None of these
A Ud B g1 g0 O ohis Tol

Which of the following is a single atom?

fAafefea & @ o9 vaher RATOASR 8 ?
helium neon
giferam faita
0
argon all of these
3w =8 ot
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Which of the following is the combined
vaccine given to children for protection
against. Diptheria, whooping cough and

tetanus?

fA=fafaa 3 @ o gaifSid S & it o=t dr
fefifar, el @t sk ¢eag & s=ma & fog

farSmang -
DPT vaccine BCG vaccine
DPT &enr BCA &err
. 0 .
TAB vaccine HIV vaccine
TAB &ent HIV &enr

Which of the following could not be a unit

of acceleration?

iR # @ I RUT Al ATk ATg] gl ehdT 82

km/s 2
km/s 2

km/s
km/s

cm/s 2
cm/s 2

m/s 2
m/s 2
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An object weights 10 N in air. When
immersed fully in a liquid it weighs only 8N
.The weight of liquid displaced by the object
will be.

fepelt &g el asT gaT § 10N g1 STd 39 & <t
fereht ga A O3t =g R ST ¢ a9 IehT Aot
8N gl 81 39 I gRT 8TY 7Y &d I i gl

/ 10N i 8N
10N 8N
q 12N : 2N
12N 2N

Name the organs that constitute the
excretory system in humans.

31 ST T AT FATY SN ASAT | ISt JoTTett
HITAAE -

A . B
two kidneys two ureters
QY foresht ARy

¢
urinary .
bladder and all of these
urethra SWied gt

ARG 3R AT
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Retina converts light

e vrepTar et uRafda svar g2

A . B .
Into electrical Into electrical
energy signal
Rreger 3ot ey Ryrrer

q
Into real
image None of these
ardfaeh 9 q HIS g
gfafers 7

The neutral wire in a domestic electric

circuit has the colour.

0] g uRuy # Iarefe dR o1 37 glar 8?2
A Red Green
IS &
q
Black Yellow
T e

Kingdom plantae includes

fhiTer wiie & At 8

A : Pteridophytes
Algae and and Py
Bryophytes gymnosperms
are 3R O M———

< e
. O

Angiosperms All of these
Gfoveteuf & ot

Page- 40



134

135

136

Which method is adopted to prevent soil

erosion in hilly area?

UETS. &5 H FaT TuRaA Aeh & forg fafdr ot

STUTT ST 87

A
Terrace General
farming framing
Tt iy A HiY

d . . . .
Major farming Minor farming
T6d Y SRCI

MACS 1407 is a high-yielding & pest-
resistant variety of which of the following

MACS 1407 STt foh Tap 31f9ep IusT gAarett e

o TSIt 8-
. B
Rice Wheat
et g
Soyabean Pulses
giaTE= Selg/ arel

Which of these character is dominant ?

STH 9 - 9T A&07 g1t 872
/ Wrinkled : "
Apical position
shape of
seeds of flower
Tl T fARER
1 o1 R ey
3R
d : -
Green colour Axial position
of seed of flower
Tt a1 g Tl ht srefa
ar &fa
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What is the biggest challange to

Democracy?
Alchc™ o A a9 S8t Al 1 8?
A
High
'9 er. Food
education
arrangement
system 1
3= frem i @
gqaqyT
a7
d . :
Strengthening population
of Democracy control
Arehd o SHEET R
BRESEEIT IEUEL]

Of which one of the following beverage
crops, India is the leading producer as well

as exporter in the world?

fAfafed do waal § 9, ¥Rd gfar # smoft
IdTea 3R fAafaes 82
).
Coffee Pulses
I gret
¢ Tea Curd
T G|
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In which three countries did the technology

of printing first come?

YT h dehrilch T8 Ugel hi- 9 i a1t H 318

ofi?

A China, Japan,
Korea

I, ST,
Fifar

Korea, Greece,
Germany
T, AT,
STHAT

B
Greece, China,

Japan

PQICACICAUINICH

None of these

T 4 IS T

Minerals are deposited and accumulated in
the stratas of which of the following rocks?

Efe fEfeRaa & @ g 9g@ & =i & S

3R SHT gd 82

A .
Sedimentary B
rocks Igneous rqcks
CEEACEE e

d . N fth
Metamorphic 'R B
rocks ith .
N gﬁﬂ@aﬁ

Page- 43



141

142

143

Diversified farming is

faffgedt &

).
Type of System of
farming farming
Wt BT YRR Wt Y goTTett

0

( None of the
Both A and B above
U 3R &t gt SR A Fg

gl

Where was first Hydro Electric plant

established in India ?

R # Ul STfdgd H= hgl T 7T AT?

A
Darjeeling

arfStferT

Sone

=

B
Shivasamudram

RERE

. Bhatinda

wfder

How many members of the Legislative
Council are nominated by the Governor in

Bihar?

fSeRr & wsuure faur uRue & fohawt geat &t

T hear g ?

A
1/3rd 1/6th
1/3 91T 1/6 41T

¢ 1/12th . 1/4th
1/12 911 1/4 4911
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Under which section of the Indian

Constitution, tribals were granted the place
of weaker sections ?

! hHASIR aif ol W AT mar g 2

T 342
1 356

j 352
E‘ 360

Which is the largest tribe in India ?

YR & I T8, ST i & ?

A Bhil
e

¢ Gond
s

B
Santhal

YT

D
Munda

qst

In which Industry did the Industrial
Revolution start in England?

gTeivg H Sfenfiien shifd fohe e 8 R gs oi?

Transport
Industry

ufRag e

( Iron Industry

ST e

B
Textile Industry

T I

0
Plastic Industry

ATeeh I
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Which one of the following does not
strengthen the democracy?

ST I Alehd o ahl AST! U& gl el g ?
A L B
Unity in equal respect
diversity for all religions.
fafaerar d garar gy U
@
Struggle and
lack of co- Effect of
ordination in diversity on
diversity. Politics.
fafcrerarei & fafcrerarait @t
qriSIg &l ST TR g9
I 3R TUy
What is scale?
Ao T 8?
. B
Ratio Statement
31gard GoE]
. O
Distance None of these
Al IS Tl

In which article of the Indian Constitution
Panchayati Raj is described?

GATIe 15T ot ot Wfdem & fone srgese |
ICRIKICIE

7 40 j 45

C‘ 36 1 35
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Which gas leaked in Bhopal Tragedy ?

frorer Terd) & foher gt R gaim a?

/ Carbon B
monoxide Carbon dioxide

AT

CACT] b
T eSS SIESIES

q Methyl O
Isoc );nate Sulphur dioxide
1ﬁqng TJARETS
ST SIESIEC

Which river the Bhakra Nangal Project is
situated?

VRIS AT RG] fohg T R RT & 2
A B
Satlaj Jhelam
gderel Bk
D
Beas Chenab
e IEEIC]

Jayprakash Narayan Airport is located in
which city of Bihar ?

STYERTRT ARTIUT =TS gaTs 37gT fagR &
R AT g?
/ Motihari : Darbhanga
Hifagrd A
0
Gaya Patna
Tar qcHr
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When did the Wildlife Protection Act come
into force in India?

UR H goite TR&T0T ST she § ] ga ?

1982 1972

1992 1994

— O _

Who was the first to travel around the world
by sea route?

gl Anf & fag a1 uRywoT 9ad uge foham
foRar?
B
Columbus Magellan
Pl A
q Kabral : Captain Cook
heRe HUTH Pk

The financial capital of India is ?

Rd h fo<iia T € 2
: B
Delhi Bengaluru
feeett FITAR
d O .
Hyderabad Mumbai
GENEIC g
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Giuseppe Mazzini founded the secret
underground society named ‘Young Europe’
in

T A 3 T yfera i wrgEr 6 9 gi
THeh AT &

B
Marseilles Berne
i a5
. D
Vienna Brussels
o g

‘What is the number of swners who are neither engineer nar a geod administrater ¥

E = Eeginger
F= Ciood Adminisiniar
(; = Chwnir

A g
7 6
7 6

b

¢4 2

4 2
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Find out the odd element from the given

options:-

I &g Tu faehent & @ foww a@ ot I1d HifSg

Shampoo

g

¢ Hair Oil
STl BT ot

Powder
S| RIEY

Cosmetics

qr<d uare

How many triangles in question figure ?

UA AR # focer R € ?
A 14 16

14 16
G 18 20

18 20
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In each question below is given a statement
followed by two assumptions numbered |
and Il. You have to consider the statement
and the following assumptions and decide
which of the assumptions is implicit in the
statement.

Choose Correct Option

Statement:-The MLA told his secretary,
"There should be an Eco Park in every city."
Assumption:-(i)Eco Park increases
greenery.

(i)Eco Park is helpful in reducing air
pollution.

H2 few 7Ty uy | ues sy e mar @
Sk a1 &t ergam | ok 11 Ry 71w &1 et
YA 3R fAfeifRea eromstt &R fdaR a1 8
3R 77 o1 & foh i It aRom sy | fRAfga €1

gt ferened g+

- e 7 ora 9Ra @ e fF "R e |
Teh 3! UTeh g4 ATfed" |

YIRUTT:- (i) $eh! UTeh BRATe! el F&TaT 61

(ii) S°RY UTh AT UGHUT i A e B TETIh
g gl

A
Neither (i) nor B L. .
(ii) i implicit i?:;l))llic(:lil’s 'S
g%‘glm (i) et (i) B
C
Both (i) and O N\
(ii) are implicit |Cr)’rl11||3)ll|((:l|)tls
(i) 3R (ii) <=t .
ARa 2l had (i) Afga g1
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C is mother of A and B. If D is husband of B.
Then whois CforD ?

cuargA3RBH 1akDufdgBar 1dtC
HTEDH?

A B
Sister Mother
g HidT
D .
Aunt Mother-in-Law
S| g

In the given number series what number will
come in place of the Question Mark
Symbol. 748, 737,715, 682, 638, ?

&3 T T sjRaer | usaradh O & W W
ont= Y Swear st | 748, 737, 715, 682, 638,
?

/ 583 i 603
583 603
q 624 : 656
624 656

Page- 52
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If SARITA written as TAU in a language, then
what will be written DHIRAJ in that
Language?

gfe foneft 9o & SARITA &Y TAU forar g, ot

34t orer & DHIRAJ aht =T fordT) 2

A KAL B MLA
KAL MLA

¢ LAL . LAK
LAL LAK

Look at this series: 2, 4, 6, 8, 10, ... What
number should come next?

39 YEAT Dl ¢ : 2, 4, 6, 8, 10, ... 3T HiA &t
T ST ATfgy?

g 11 i 12
11 12
C 13 . 14
13 14
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Statement and Conclusion:- It consists of a
statement and two conclusions. Despite the
given statement being contrary to common
beliefs and concepts. One has to identify
the conclusion by considening it to be true
as soon as the statement emerges from the
logical form. Follow any option

Statement:- There are some people who
believe that God is in the temple.
Conslusion:-(1) God is found only in the
temple.

(2) God is everywhere.

399 Ueh oy U &l fAsend gl &1 e mam s
ITISIG 3Y T AR I fehe-F<amst
AT bRt gidl g, STt [ T dehdid ®9 9
eperar 21 udeh U & 1 A @ s gl
faered gt TapdT & -

HY - FS i< AFA g foh WTaT AfR 7 g

gl
fArsen -
(1) 9Ta I chael AR H AT ST1aT 8
(2) HTTEH 82 SIS B
/ Only 1 . Only 2
dhadt (1) had (2)
D
q Neither1 or 2
Either 1 or 2
ardt (1) a1 (2) ?;“”ﬁ“a
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In question below is given a statement
followed by three courses of action
numbered |, Il and lll. You have to assume
everything in the statement to be true, then
decide which of the three given suggested
courses of action logically follows for
pursuing.

select correct option

Statement:-Whether It should be one same
criteria for admission in all engineering
colleges of India/

Reasons:- (1) Yes, It will ensure the quality
of enrolled student in engineering colleges.
(2) No, it is not possible.

$ Rw v v & ves e e man § Sk sre
PRaATs o oI graashH |, 1 3R 11| §1 3TTUeht e
A& 7S gR I B G AT 8, foRR e foh
f&g g = g g At A & i 91 difchen
&0 Y 3TER0T hedl B

gt fareed g

FHYA - T VR & goft SR st & forg
SIS T Teh THT HIUSS §IHT T118Y |

dh -

(1) g, 599 Sefifrafi afest | arfad gg o
<Y ToTeT gAfRd gt |

(2) &t ag A T & |

A Only 1 B Only 2
frdh (1) fadh (2)

¢ Only 1or2 D Neither 1 nor 2
(Mwa@R)# Far(1) sikaar
qh )

Direction for Question

Direction to solve: It is required to mark out
the conditions which a given candidate
fulfills, along with the appropriate course of
action.

Following are several eligibility criteria for
applving for the post of Manager-IT in an
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An applicant can be eligible under one or
more of the conditions given below :

(i) The candidate should be a post-graduate
in Computer Science or Information
Technology with at least two years work
experience

(i) The candidate should be a, post-
graduate in Mathematics/Statistics with
one-year postgraduate diploma in
Computer Science/Information Technology
and at least five years work experience.

(iii) The candidate should be an engineer
with a specialization in Computer
Science/Information Technology with at
least six years work experience.

(iv) the candidate should be a graduate
having Mathematics as one of the subjects
and Master's degree holder in Computer
Applications and have at least three years
work experience

(v) The candidate should be a post-
graduate engineer in Electronics with work
experience of at least one year.

QUESTION - Meeti Pandey has completed
her graduation in Computer Science She
has also obtained a Master's degree in
Computer Applications. She has been
working for the last seven years.

U & forg e

T & e oh fordl 32T : I8 hRATS & IUg<h
UTSdehH o 9T, 3 <11 ot FAfGd T Sasaeh
& St foneft g g Swfiear grr gt it st &1
fohell TTe F Ueiyh-3MEd & Ug o foIg simae
e o oI o ursrar Ares Refafaa €

Udh 37Taeh AId &1 718 Tep a7 31fdeh *1df o dgd
UTS g1 Gohd &

(i) S+HIGaR ot A § HH & Tl & hRd I
o 1Y e [ a1 e dieitfiehy #
HTaehTR g I8yl

(ii) IFear ot ToTa/diferh! § HTdeni<R -1
1Y 3R R fagm/ga=n dienfih # g
qEg HTaehi<R ST 3R H O H Uig Iy el
& WG g1 ARy

(iii) IFIGIR FHH & A B T & DI 9T &
1Y SR fas / e dienfieh! # fasiustan
gTeAT SSN=ER g1 ATy
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(iv) IFCaR &l Uah fawa & w9 & 7ford & a1y
HTdeh g1 ATfeY 3R hReR YheAtcherd | AR
St uRep g =nfew ok v @ &y ofiF O1et &t
& ST g1 A8y |

(v) SHIGAR ! HH T A Toh 9 S B AT
& TV AR | HTdeh R FoIT-aR il
gyl

g - Hidl Uid A hegex ey | AU O foRar
& S8+ thgex Yheltchs™ A AR 3l off g1l
Fi g1 ag TS I1a 91T T e A @ 8l

B
A Eligible under
E:')g('):'l‘;“”der (iii) and (iv)
- only
ﬁ (i) & e e (iif) 3R (iv)
& dgd g
¢ _. .
Eligible under
(iv) only Not eligible
&ad (iv) & BIEEE]
dgd
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Question given below consists of a
statement, followed by two arguments
numbered | and Il. You have to decide which
of the arguments is a 'strong' argument and
which is a 'weak’ argument.

select appropriate answer:
Statement:-Should water be privatised in
India?

Argument:-(i)Yes, this might lead to
improvement in distribution of water as the
private sector is more efficient than the
public sector.

(ii)No, Privatisation would centralise of
benefits of water leading to increase in its
cost. Not everyone would be capable of
buying water at high costs.

$r Row U gy A Ues Y €, fSigeh a1e &t dh |
3R 11 Ru 77T &1 3mueht 9O &= & foh &l 1 dh
‘ST’ Ieh & 3R hi< T ‘RHSIR' doh gl
SUGh IR -

Y- T YR B T T S0 AT Tlfed?
- (i) g, Fsft &= Trdsif-ich & &l gor 3
31k et & Foras STt faawor & ger ghml

(ii) &Y, FsfteRzoT § STet a7 chfeea g oo
qrt Y AT TSI gR RIS S S| WR Uy

Tde 7 gem gt ghm

A onlv (i) i 5
nly (i) is only (i) is
strong strong
gﬂa(')w Fae (i) ToIed &

q Both (i) and . Neither (i) nor
(i) are strong (i) are strong
(i) 3R (ii) gt arar (i) = (i)
HoTed & ASlgd &
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Read the both Statements and decide
which of the options gives the relationship
between The both statements.

(1) All sections of the society are beginning
to understand the importance of yoga and
exercise.

(1) Health awareness is increasing in the
society, especially among the middle-aged
people.

T Ul &) UG TR T o foh hi=-aT e
2 el o e Gae aarar 8l

) THTST & gt @it i SR g™ & A8 dt
qHgH A g

1) T #, fativeny 37dE aif & ol # @reed &
gfd ST eehdT 6 T8t &

A
If statement | ]
is the cause If statement Il
and is the cause
statement Il is and statement |
its effect. is its effect.
Tfe e | Tfe YA || HROT
PRUT § 3R g SR P |
Y || 3T YT UE gl
g g

q 0
If both the If both the
statement | & statement | & I
Il are are effects of
independent independent
causes. causes.
gfg gt A | gfe gl A |
Tqd || T g || fohddt w@dT
PRI B RO & Y91 g

Page- 59



170

If + means-, - means x, x means + and +
means+, then what will be the value of
following? 480 x 15+7-4+12=?

i + R I -, - AT A & X, X hT 37 & + 3R

+ op1 31 + gt at fRifohd ot w19 @ ghm? 480
X 15+7-4+12="
A B
-8 12
-8 12
¢ 16 . 18
16 18
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There is assertion and reason for the
guestions given below Choose the Correct
option

Assertion: The food cooks fastin a
Pressure Cooker.

Reason: The water boiling point increases
due to increase in pressure

H fou TQ U # Ueh e 3R Ueh shRuT fer
a1 g | I fy Tgl faered a1 gama fohar 51y |
HY: YR G H IS STedt TehdT § |

PRUT: &9 &1 9 SieT &l FaU-ich ft dedr g |

If assertion

and reason If assertion and
are both true reason are both
and the true and the
reason reason is not
adequately adequately
describes the describing the
assertion assertion

gfg e 3R gfe wo= gd
PRI S T PRI S T §
g 3R BRT, 3R HROT, HYA
FYA & T &1 3T SReET
RAT FR 3BT & Tol AR IBT 8§ |

If assertion is

If assertion and

true but
. reason both are
reason Is
wrong
wrong i ey e
afe T Ta g .
HIROT ST 3™
e T 3
T E |
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Mohan is 40 m. to the South of his house.
After walking he took a left turn and walked
10 m. After that he turn North and walks 20
m. In which directon is he from his house

now ?

e 31U+ BR & &f&yor # 40 1. o & 91 I1d
e 10 HY. eI §1 IHh a8 IR H S 20
. T &1 319 I8 31U TR I fohg feam A &2

North-west

IWR-ufgH

q
East
o

west

afgH

D
South-East

gf&ror- @R

Ramesh was born two years after his
father's marriage. His mother is five years
younger than his father but 20 years older
than Ramesh who is 10 years old. At what
age did the father get married?

THLT T ST IGah T ht MY & & T 16
T AT| IHeh! AT Ik U & Ui oy BIdl §
Afoh AT G 20 a9 71 & <71 foh 10 af a1 B
fOrdT &t 2 fore 39 & g of?

A
23 years
23 a9

@
33 years
33 g

B
25 years

25 gy

C
35 years

35 qy
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Choose the correct option instead of the
question mark in the given Question.
Magazine : Editor :: Cinema : ?

fou T v A uTare g & WH R g8t
faehed @t T | uf3ent : TruTEe & TR ;2

B
Actor Producer
ThelTehTR fAmfar
. D
Director Camera
IECEICT FHA
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There are twenty people working in an
office. The first group of five works between
8.00 a.m. and 2.00 p.m. The second group
of ten works between 10.00 a.m. and 4.00
p.m. And the third group of five works
between 12 noon and 6.00 p.m. There are
three computers in the office which all the
employees frequently used. During which of
the following hours the computers are likely
to be used most?

Uch AT B S19 1T g e 3@ & | Tid ohl
U1 T g 8 a9t J gugR 2.00 5wt & ofiw
hTH AT & &Y I GERT g gaig 10.00 oot &
2T 4.00 St & & hIH T g 3R uid &l
JIeRT I9g 2ugR 12 9t & 2 6.00 st & &g
hTH T § PRATAT B I e & forenr gt
FHHARY TRR ITAMT ohd & . FR=fafaa g @

foh € & R SR o1 Ted 3ifdeR IuanT

fohq ST Rt G 872

g 10.00 a.m. - B 1.00 p.m. -
12 noon 3.00 p.m.
10.00 gafg - 1.00 3T0RTg -
12 qugR 3.00 3R

q 12 noon - . 2.00 p.m. -
2.00 p.m. 4.00 p.m.
UgR 12 - 2.00 3R -
2.00 SOerg 4.00 3TURTg

“_n

If “a@” is the first term and “r” is the common
ratio, then the nth term of a G.P is:

gf¢ "a" Ugel UG g 3R 'r" AT ST §, at
GP I naf ug g:

J.
ar, ar, -1
ar, ar, -1

C 0
(ann -4 None of these
(an)p - 1 79 @ P31

Page- 64



177

"There is assertion and reason for the
guestions given below Choose the Correct
option

Sachin, what does your sister think about

l. “She says give another one which is more
expensive.
[l. Chah says police will find it soon.

" H g Qg s 1 grar SR AR ¢ el faeed
ﬂﬁ:"

TR, oI a6 TS Y S & IR A

qradt g St a7 3 <F off?

qig:....

|. “aT8 gl & foh g@dl &t st Herit & 17

II. =g et & foh gfere 38 Siee &1 ge it |

A
Only , : Only statement
statement | is .
true. Il'is true.
S o | hael Y |l
2 | T e

( If assertion is : Both the
true but statements |
reason is and Il are not
wrong correct.
& U | 3R gt YA | iR I
I ST & | SUGH el ¢ |
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Which Letter will be second to the right of
the Letter which is between the Letters 'D'
and 'N'in the alphabet ?

gufATeT & o1eR 'D' Td 'N' & Ay | fq S1eR &

a1 3R TR 31&R I 1§ ?
A B
K J
K J
( 0
I H
I H
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A situation is given below and a question is
also given with it, in the light of the
situation, choose the correct option from
the given alternatives.

What will you do if your friend is a drug
addict and is forcing you to do the same?

2 ven uRfRAS & 718 & ok ITh T1y Uah U
oft e mam @ uRfRAf Farrerie & Ry e ey
# & Tg! fached a1 19 fovar S|

37T G ALfielt aegait o1 99+ T 8 8RR
3t Y T o ol <aTa ST @1 & a9 3y
T B ?

/ You will
consume it : You will refuse
only when he ,
does. him.
37g gt g9+ mgﬁ 3
Pl 59 I8 et
HAT |

O .

( You will refuse
You will him and say
smoke only in that you have
his presence. asthma
3T IJFhT 31T IR FqT
Syt & & e &t 3R gt
AU B | foh STgeRl &AT T

fRepEd g |
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In following question two statements are
given and these statements are followed by
two conclusions numbered (1) and (2). You
have to take the given two statements to be
true even if they seem to be at variance
from commonly known facts. Read the
conclusions and then decide which of the
given conclusions logically follows from the
two given statements, disregarding
commonly known facts.

Choose the correct option -

Statement:-Some fools are intelligent.
Some intelligent are great.
conclusion:-(i)Some fools are great.
(i)All greates are intelligent.

fAferfEa ust & g pyq feu U € 3R 59 Al
& a1 &t sy (1) ok (2) g g &1 smuent feg
Y &t Y1 ol T AT §, Ut a1 & gdard
et @ 9 Uit gid gl | fAent ol ué 3R fthe
T4 e fon g g freehst & @ i & e
-G &0 8 3Td qea] &Y sragern avd gy fay
T & YT el dlfcheh & § SHR0T el 8
e faehed ot gATT Sifrd -

HYT- $O HE YIGAM 6| D FGA AgH 8
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How many squares are present in the following figure 7
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